


F3

F2

F1

F1     Butt Stock - Fixed (not included)
F2    1/4”-28x3/4” Screw (not included)
F3    Mini Buffer Tube (not included)

6

7

1

23

5

4

NOTICE: THIS MANUAL COMPLEMENTS YOUR RIFLE
MANUFACTURER’S MANUAL. FOLLOW ITS LUBRICATION
AND MAINTENANCE INSTRUCTIONS.

1. When should I clean and lubricate my new MDT chassis?
 • Before and after long-term storage;
 • Soon after being subject to adverse conditions such as 

rain, snow, mud, sleet, or saltwater;
 • Soon after operating in rough conditions such as lying 

on the ground outdoors or dropped in mud.

2. How should I clean and lubricate my MDT chassis?
 • Use a damp (not wet) clean cloth to remove dirt and 

other stains from the surfaces.
 • Use a dry clean cloth to dry and finish the cleaning;
 • Do not apply oil on the chassis surfaces;
 • After cleaning, place a drop of gun oil in the sling swivel 

stud, magazine lock pin, action screw, and pistol grip 
screw.

NOTE: AFTER USE UNDER EXTREME CONDITIONS, IT MAY 
BE NECESSARY TO DISASSEMBLE THE CHASSIS FOR
PROPER CLEANING. 

3. Is the MDT chassis corrosion-proof?
 • Yes. the MDT chassis coating provides superior corrosion 

protection, using Cerakote®. 
 • However, only proper care can keep your firearm and 

chassis system in good operating condition, and 
maintain its appearance. 

 • If after extensive use the protective coating on plated 
parts shows signs of reduced corrosion protection, 
recoat or replace the parts to ensure the integrity of the 
chassis. 

Maintenance

COLLAPSIBLE CHASSIS 
1. Locate the #6-32 locking screw (C4) at the bottom of the 

chassis and unscrew it until it cannot be felt above the 
inside of the chassis. Do not remove it completely.

2. Mount the castle nut (C3) to the buffer tube (C2), screw it 
to the chassis (1), and mount the buttstock (C1).

3. Align the groove on the buffer tube (C2) to the #6-32 
locking screw (C4). Screw in the #6-32 locking screw until 
it makes contact.

4. Tighten the buttstock castle nut (C3)

1. Ensure that the firearm is unloaded.
2. Remove the bolt (6).
3. Using the appropriate Allen wrench for your firearm, 

release and remove the two screws holding the stock to 
the action.

4. Set these screws aside as they are no longer needed.
5. Remove the barreled action (7) from the stock.

Chassis Installation

TOOLS REQUIRED
•  5/32” Allen Wrench (Pistol Grip Screw)
• 5mm Allen Wrench (Metric Threaded Actions)
• 3/16” Allen Wrench (SAE Threaded  Actions)

1. Place the supplied recoil lug in the recoil lug pocket. 
NOTE: most actions do not require this step - only 
applicable if a lug is included with the supplied hardware 

2. Place your action into the MDT LSS-XL Gen2 chassis (1). 
3. Begin to thread the provided action screws (2 & 3) 

through the MDT LSS-XL Gen2 chassis and into the 
action (7) using the appropriate sized allen wrench.  

4.  Before tightening the action screws completely, ensure 
the action is pressed backward into the chasssis. This 
ensures contact between the rear face of the recoil lug 
and the chassis. 

5.  Torque the screws down to 60 in/lbs.
8. Install pistol grip (5). Make sure the screw and washer (4) 

are tightened. 
7.  Verify that the trigger safety is working properly.
8. Check the rifle overall functionality.

CAUTION: RETIGHTEN ALL SCREWS, FASTENERS AND 
CASTLE NUTS AFTER INITIAL USE - APPROX. 100 SHOTS

Action Removal

Butt Stock Installation
1 MDT LSS-XL Gen2 chassis
2 Front Action Screw
3 Rear Action Screw
4 Pistol grip screw and washer
5 Pistol Grip (not included)
6 Bolt (not included)
7 Barreled Action (not included)

CAUTION: AVOID RESTING OR HITTING THE BARREL
AGAINST ANY SURFACE WHILE HANDLING THE ACTION,
STOCK, AND CHASSIS.

SOME RIFLE MODELS REQUIRE SPECIAL INSTALLATION - PLEASE CHECK YOUR BOX FOR ANY ADDITIONAL INSTRUCTIONS.

FIXED CHASSIS
1. Thread the mini buffer tube (F3) into the rear of the 

chassis, until the flange of the mini buffer tube is snug 
against the chassis.

2. Slide the butt stock (F1) over the mini buffer tube that has 
been installed onto the chassis.

3. Use the 1/4”-28x3/4” screw (F2) to tighten the butt stock 
to the mini buffer tube and the chassis.

C1

C2

C3
C4

NOTE: BUTT STOCK INSTALLATION MAY VARY. 
BE SURE TO REFERENCE THE MANUFACTURER’S 
INSTALLATION GUIDE WHEN INSTALLING ANY 
COMPONENTS TO THIS CHASSIS.

C1 Butt Stock - Collapsible (not included)
C2 Buffer Tube (not included)
C3 Castle Nut (not included)
C4 Locking screw (#6-32)

TOOLS REQUIRED
• 5/32” Allen Wrench (fixed screw)
• Castle Nut Wrench (collapsible)
• Allen Wrench: 1/16 (collapsible locking screw)


